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Note: 1. You can't take the log of 0 or a pegative number (y>(0)
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Ip_x;y_g_Q b#1 ,b__z() for any real number x...
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If y= 101.

—

A common logarithm is 5 login Lo D

then Ioa: x (same as logary = ).

Basic Properties of Common Logarithms

_Let x & y be real numbers with x>0...

1. l(uicl, =0 because |0 = )

. log10 = : -
ﬁb 1 because ‘0\ ,lD

2

3. lo%t}OY:ybecause ol = oY

4. 10 logx=x hecause 1o X ‘Uoj\o*
\L°)

Ex) logu’)l(]‘: W =

*These can also be done easily in the calculator.

Use e buttoin M
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Ex) log;o%o-z [0%‘(“’6[0—6\ = IO%‘O\OOD :N%w)‘e = _3

W\
A natural logarithmis alogin _bq&g_‘f:?.

If y=ex then Qly =x. ——»lgaa\l‘:—x

Basic Properties of Natural Logarithms

Let x & y be real numbers with x>0...

1.(Ip1 = 0 because (oq@\ =0 Q.O’-‘— \

2.(ple = 1 because lmﬁé—i\ Q,‘ =

3. dr'eY = y because W\D'—';(H) Q_‘\f = e\f

7. otk = x because Z\D"}Rf’\( o D Q,’L = %

Ex)@@: \o%e{é "W’g‘):
50 (= [0l = Toa e =

Ex) e®‘= %L{' :@

Scanned with CamScanner

]



Properties of Logarithmic Functions

Condin. ec O‘ \‘
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Your calculator (unless you have the new TI-84+ operating system) will only evaluate a loganthm @
with base 10 or e If you need to evaluate a logarithm with a different with a different base. .

2, Qunth nt Rule;

To change base (for those not in common log):

lo ’ Inx
logbx=-—g5 and logbx—l—"-;’-

More examples:
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3.5 Bquation Solving and Modeling

LS EQUATION SOLVING AND MODELING

PreCalculus

' Leaming Targets:

. |
I. Solve exponential and logarithmic equations,

When you solve an equation, you “undo™ what has been done ..

. addition to undo subtraction, multiplication to undo

division, Since exponents and logarithms are inverses of cach olhcr it follows that in order to solve a logarithmic equation,
YOu can write it as an exponent to “undo” the logarithm, and if you are solving for an exponent, you write the equation as a

logarithm,

NOTE: You can only switch between exponential and |
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Example 1) Solve the following equations:
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ithmic forms when you have log, y=x or b" =y
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